Enclosure 3

Urban Ward Population Deviation

Total urban population: 71, 332

833

Average Urban Ward Population: 14, 266 17,

10,700
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Ward 3 (11, 865

Percent Deviation from Average Ward Population (%)

Urban Ward # of Eligible Voters Deviation

Total urban eligible voters: 50, 977

12, 734

Average # of Urban Eligible Voters: 10, 195

7,647
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Ward 1 (10, 126)

-5.9%

Ward 81(9, 589)

-12.72

Ward 3 (3, 399)
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Enclosure 3

Rural Ward Population Deviation

Total rural population: 27, 049

Average Rural Ward Population: 9,016

Ward 5 (9, 412)

4.39

Ward & (39, 296)
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Ward 7 (3, 341)

5

20

15

10

=10

-15

-20

Percent Deviation from Average Ward Population {32)

ble Voters Deviation

igi
Average # of Rural Elighle Voters: 6,

Rural Ward # of El

Totalruraleligible voters: 19, 890
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Ward 7 (6, 079)
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